EEL IO
/0/23//2

x"f = ’U——} L 1- {
e
A" V- y
= L2 : e=vU+l 2
£+ ?\f & :11;’;‘ A ]
11,;" -Ct 1{- N ~7~ -67_ }\,lr - 1'\)_48'0
“ 51(= P V]
E - l F, = \/" Vv‘ S Vﬂ. V,_ - Sl( W
R e A A B T
E, 1[/‘t

" (_r |

V:S 4 \/‘.o

! p =
4 a0
Yo VAT |
1" - - -
o vt ©
| \ - O(YMM
Vp: 5(4)V = 430\_“7‘? WWM

f f t—>00
faspors Coks 2[4 2 f vy d > 0 => aker of

E(ee) 2 jw’l)'c'cnce) > O



f\l‘—,’U’",‘ﬂfU’nJ C:.'D'L~4J'M

| R, T ¢ rT A
< c _
e o) [v-V )2

VL'V-v' U
fT < ':‘l_ 14
+ v V =V v

[

00 . . AM:(J _

Zo0)= [’U’tc,(-(-)'if('ﬁ) V(t)tfc{)]o(t z0 fe—‘W
~ 00

A
j'\ff[e) NAGY
P

go o
fzfmgcﬂa&r = j@ﬁ{fﬁﬂ] Glacer| RS
~ 0O - 0

<0 ~JxrSt .
@TES}sj cene” ok, e 7 [l i ans
, ’:S %gle  df
= 5 oo M- f v“’“”w’“’)M -c:/:r

jya[f)'(f j[’fme, LUCE) - ’Uﬁﬂv(ﬂ]au'
«

jl.‘\/c'rf N YTF “]a(“-’ > & ——>54f1775

ﬂ'n

v s o) StV 45 20



- . - T -
Y S(j0) e raTimaX in 3 L S E,w%
(a rueel ity Do S'eje0)= ST
mow (VP s ‘;w ‘?&?’J’w)féw: 4/&.

— foaileed = 1 = SC-4)SCa) 28

[*,‘f,.c il SC‘){U;::_
w 2 > _(-2)c _ 1+&C
A ples Stayz == ——=
— & (+ (-2 C
Q‘E_ ‘G - l/
L‘( SCe)
= N
ec 2
@ Ny
*C;i
S
e- vt
t=7-€; n
Lo
(v -V ) =» (14,-2Y.)V =




N ens. fl!(t‘-flt,fzht)o(t >0 Aj M = w'l):". 5
j W, K <t A

¢ ia. 0{; = Z—L)W
s Siar i

N ~
thon qrejb
. 2 . y I . h
ooc.qre.,lft,\-,}"‘—,-_é ’U—EIb/&LG(zb 4[\,{,«W
. v;;qj"\

¢ = . ) ‘
MW&ULWMWMAV £ VL
Done for N st Sca) <o Aounded r2aX

. g ¢ 0 v e X BR® o pplegan 670
/4 & 1).- S Ge5w | %o

' -
& o———p { L {0 *-3] , S° (L,-7)(8%7)
| > e (-9)
( -91°" \ ~Q |z — [ o - ]
S [":1*31 [3 ?] y [1 \ ] ‘*‘31 ) kc'p ¢
- U
f['@r ‘ Hi"&-‘l%\
o O g™

S _q* =g \3\31\,3‘11
= H-ga_[‘ b l [’?*}{_1;’ [—13 (—7“j

st ST

>4

-1 ?. -
Tt 5=ty = Gend YD
i z
)1, Y) = 4,-Y 2 (1,-Y)(L,+Y)

< T T
L T e Q= S s ST (11’“‘/)_'(1"‘/)
= (L+7/) (1-v) = S



